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1. Kd7+ {Main A:} Rb8 ({Main B:} 1... Nf8+ $5 2. Rxf8+ Rb8 3. Qe4+ Nc6 4. Rxb8+ $1
({Thematic try :} 4. Bxc6+ $2 Ka7 5. Rxb8 {as in main A - logical position X1 - missed
black knight on g6 allows check on g-file e.g.} Qg7+ $11) 4... Kxb8 5. Qf4+ Ne5+ (5...
Ka8 6. Bxc6+ Ka7 7. Qc7+ Kab 8. Qb7+ Kab 9. Qb5#) 6. Qxe5+ Ka8 7. Bc6+ Ka7 8.
Qc7+ Kab6 9. Qb7+ Ka5 10. Qb5#) 2. Qed+ Nc6 3. Bxc6+ (3. Rxb8+ $4 Kxb8 {white has
no check on f4}) 3... Ka7 4. Rxb8 {position X2} Rd3+ $1 (4... Kxb8 5. Qb4+) (4... Ne5+
5. Qxeb) 5. Kc8 $3 ({Logical try :} 5. Qxd3 Qg4+ $1 (5... Ne5+ $2 6. Kc7 Qg7+ 7. Qd7
$1 Qxd7+ 8. Bxd7 Nxd7 9. Rb2 $18) 6. Kd8 (6. Kc7 Qf4+ $11) 6... Qg5+ $11 {/h4
Position Y2, white queen on d3}) 5... Rd8+ $1 6. Kxd8 Qg5+ {Position Y1, white queen
on e4} (6... Kxb8 7. Qb4+ $18) 7. Kc8 $1 (7. Kd7 $2 Ne5+ 8. Ke6 Nxc6 $11) 7... Ne7+ 8.
Kd7 Nxc6 (8... Kxb8 9. Qb4+) 9. Ra8+ $3 Kxa8 10. Kxc6 $1 Qa5 11. Qe8+ {Aristocrat
study} 1-0



